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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 40,408 86,084 41,059 45,025
RIRET1T 6 15 9 6
RIRET2T 27 58 28 30
AIEET3T 180 590 285 305
RIRET4T 414 980 486 494
B 627 1,643 808 835
REH 2,740 6,147 2,866 3,281
L&A 4,335 9,391 4,372 5,019
5E 2,653 5,849 2,828 3,021
B AN 1,326 2,850 1,338 1,512
BERT 1,381 1,924 929 995
BER2T 882 1,534 749 785
BERST 738 1,765 857 908
B 3,001 5,223 2,535 2,688
BEXRE 282 641 308 333
= 2,198 4847 2,304 2,543
hERE 645 1,432 660 772
e 2,439 4977 2,410 2,567
25 L ET 2,328 5,014 2,400 2,614
B &AL BT 77 153 64 89
HEFILET1T 564 1,208 564 644
HEFILET2T 608 1,269 605 664
HEZFILAT3T 680 1,520 746 774
g 1,929 4,150 1,979 2,171
B & it B Fr ET 683 1,526 736 790
BHEREBET1T 575 1,159 573 586
BHERERET2T 766 1,720 832 888
BHERERETST 806 1,605 725 880
BHERERET4T 509 921 430 491
HEKERETST 828 1,657 793 864
HEERET6T 888 1,885 917 968
BHERERET7T 891 1,839 906 933
HERERETST 72 208 102 106
£t| 5335 10,994 5,278 5,716
HEF R FET 2,011 4127 2,021 2,106
S|EFET1T 636 1,582 787 795
S|EFET2T 774 1,743 818 925
S|EFET3 T 743 1,368 634 734
g 2,153 4,693 2,239 2,454
ERE1T 581 1,316 630 686
EIRET2T 385 1,030 507 523
EREIST 520 1,324 644 680
EIRETAT 691 1,439 639 800
EIZEIST 523 1,126 561 565
g 2,700 6,235 2,981 3,254
ME A 2914 6,154 2,904 3,250
J\THET1T 34 36 17 19
J\THET2T 24 51 27 24
J\THEI3T 51 104 48 56
B 109 191 92 99
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